
MATH 1314
Section 5.3



Logarithmic Functions









Popper 28:
1.

2.

3.

a. 3 b. 10 c. 2 d. 0.5

a. 16 b. ‐2 c. 2 d. 0.5

a. 1/1000 b. ‐1 c. ‐3 d. No Solution

4. log4 (-2)

a. ‐0.5 b. ‐16 c. 1/8 d. No Solution





e.  logିଶ െ8

f. logହ 5ିଷ

g. 6୪୭୥ల ି଻

h. ln 𝑒ି଴.଴ଶ

i. lnସ 4𝑒 ହ

j. logଶ 2ିହ

k. 2୪୭୥మሺିହሻ

l. 3ହ ୪୭୥య ଻





Popper 28…continued

5.

6.

7.

a. (2, ∞) b. [2, ∞) c. (‐∞, 2) d. (‐∞, ∞)

a. (3.5, ∞) b. [3.5, ∞) c. (‐∞, 3.5) d. (‐∞, ∞)

a. (1, ∞) b. (‐∞, ‐1) U (1, ∞) c. (‐∞, ‐1) d. (‐∞, ∞)









Determine which of the following is the 
illustrated function:

a. f(x) = log4(x + 2) – 1 
b.f(x) = log4(x – 2) – 1 
c. f(x) = ‐ log4(x + 2) + 1 
d.f(x) = ‐ log4(x – 2) + 1
e.f(x) = ‐ log5(x – 2) – 1 
f. f(x) = ‐ log5(x – 2) + 1 


